ORG-S y = —dx? 4 8x—4 O T} x Sk wh e HO| HEE?

@ (1, 0) @ (-1, 0) ® (0, 1)
@ (2, 0) ® (-2, 0)



L

1
=
al

Ay=-x2+8x-7HxZF9 Wy HARE (a, 0),
S, a+b o] T FoHAE?

@ 2 @ 4 ® 6 @ 8 ® 10

(b, 0)






BAy = -2 $4x+6 ] D} x ZT RHS A, B D

i
o, AB ¢] ZolE F5tH?

@1 @ 2 ® 3 @ 4 ® 5



=y =20 +4x -6 O] Iz} x S WHEA, B E

i
i, AB ©] Zo|E F5td?

0|



Ty =x2-5x-62 1= x5} F A, BoA whdtin

ol
—_

o]

@ 2 ® 4 @ 6 ®7

D1



7.

th 13 Zo] 4ABC 7h EZAAIAGY 1), q o gre] WelE Tt

ofzt.

B™~3cm-"C

D Va8 <a<10 @ V58 <a<10 ® V68<a<10

@ Vi8<a<10 ® V88 <a<10



A o] o7} 7}

o gtel 8

8.

7 (

=S
L

@ 1<a<4 ® 2<a<4

D 1l1<a<3

® 3<a<6

@ 3<a<h



9. b AS WOl Zolrt x o], U] 5 W] Pol7t 247} 15, 17 <)
Apzreo] o) 2HAkzk el 7] $1at x ] ghe] MSl?

D 8<x<15 @ 8<x<17 ® 9<x<15

@ 9<x<1T7 ® 15<x<17



A o] o7} 7}

10.

@ 75 ® 8 @ 85 ® 9

o7



11.

F 0, q o gro] W9l

® 10<a<14



12. & 2NA (0 9 277 £24D 1, a 9
arel gstke o7

D 1<a< b @ 1<a<2V2 ® 1<a<3
@ 1<a< V10 ® 1<a< V13



H 919l Al A A(-1, 2), B(5, -2), C(1,

SEL

13.

AABC = o®

=Ll
ok



3 ABC



AABC 9] ®9F

=11
o=

()
ol



3IA

yl\

@ AB =25

@ BC =210

BC

® AB

B

-

Zl

® AABC = o|5HA}



17. & 183} 28 gABCD o4 AB = AD = 4cm, BC = 6em, £C =
(D =90°°]1, & A oA BD o] W&l =49 S H 2 & off, AH
o] do|g stH?

D V2em @ +3cm ® 2cm



